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Note English version of the instructions is printed op, the back COV fthi
. rer of this

(1-C)

Booklet.



Consider the follow;
owing for the next three (03) i
that s (03) items

In the triangle ABC, AB = 6 cm, BC = 8 em and
AC = 10 em. The perpendicular dropped from B
meets the side AC at D. A circle of radius BD (with

centre B) cuts AB and BC at P and Q respectively
as shown in the figure.

5 A -C
1. What is the length of QC ?
pC
(& 44cm At —
r@" 8D
(b) 4'2 cm A I3
(¢) 36cm
(d 32cm

2 If £ ABD = 6, then what is sin 0 equal to ?

(a) 04
7\)\1; ‘00/"
05
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(c) 06 '
(d) 08
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3.  What is the radius of the circle ?

(a) bHcm

(b) 4:8cm

(e 44 cm

(d) 4cm

Consider the following for the next three (03) items
that follow :

In the figure given below, a circle is inscribed in a
square PQRS. A rectangle at the corner P that

measures 4 cm x 2 cm and a square at the corner R

are drawn.
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4.  What is the area of the circle ? w3
L
(@ 100m square cm IC(4 & g
)
(b)  96n square cm z
<
(©)  50n square cm ™ " ’_?_A
T o
(d)  48n square cm ) :, "
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